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d
. Find d—y in the following equations. (5 points each)
x

(a) y = In (] arctan(27)]) (b) e¥sinx = e”siny

1
. Find the absolute extrema of function f(x) = 59&111(3:2 + 1) in the interval 0 < x < 27.
(10 points)

. Find the arc length of the curve given by x = ¢ + sint, y = 1 — cost in the interval
0<z<2m. (10 point)

> (1 n+1 —5)"

. Find the interval of convergence of the power series Z (=1) (5x ) .

n-o"

n=1

(10 points)

. Find the following integrals. (8 points each)
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(a) /m dx (b)/ v*Inz dr (c) /82& dx
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/ / / (y + 22) dzdydz  (e) / / cos(z? + ?) dydx
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2
. Consider the functions f(z,y) = 6 — 2% — yz and g(z,y) = 2z + y. Find a set of

parametric equations of the tangent line to the curve of intersection of the surfaces at the
point (1,2,4). (10 points)

. Determine the convergence or divergence of the following series. (5 points each)
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